Name: ________________________________________Date: _________________Hour: ____________

DiHybrid Cross  & Sex-Linked Trait WS


Given the following information for Pea Plants perform the crosses and calculate results.  
All traits below exhibit complete dominance.
Seed Color

G = green

g = yellow

Height
T = Tall

t = short

Flower Color

B = purple

b = white

1.  Explain the Law of Segregation.

2.  Explain the Law of Independent assortment.

Given the following Genotypes, perform a DiHybrid cross and answer the questions.

3.  GgTT  x  ggtt
a.  What are the phenotypes of the parents? ____________________


_______________________________________________________

b. What will the Genotypic ratios of the offspring be?

c.  What will the phenotypic ratios of the offspring be?
4.  BBTt  x  BbTt

a.  What are the phenotypes of the parents?  ______________________

__________________________________________________________

b. What ratio of the offspring will be Heterozygous for both traits? ______________

c. What ratio of the offspring will be Homozygous Dominant for both traits?  ____

d. What ratio will be short?  ____________


e. What ratio will be Purple?  ____________

f. What ratio will be Purple and Short? _________________

g. What ratio will be Purple and Tall? __________________
5.  Gg Bb  x  Gg Bb
a.  What ratio of the offspring will be dominant for both traits?  _______


b. What ratio of the offspring will have the same genotype as the 


parents?  ________________

c. What proportion of the offspring will be homozygous recessive for 


both traits?  _______________

d.  What proportion of the offspring will have the same phenotype as the 

parents?  ______________     

6. Explain what a sex linked trait is.  On which chromosome are they usually found?

7. In humans, does the male or female parent determine the sex?  Why?
8. Are males or females more likely to show a recessive sex linked trait?  Why?
In Fruit Flies eye color is a sex linked trait that is completely dominant.  
The alleles are:  XR = Red,  Xr = White, and Y.  XX = Female, and XY = Male

9. XrY  x  XRXr

a.  What are the phenotypes of the parents? __________________________

_____________________________________________________________


b.  What are the genotypic & phenotypic ratios of the offspring by sex?


Male: ________________________________________________________





Female:______________________________________________________
In humans, male pattern baldness is a recessive sex linked trait.  The alleles are:  XH = hair, Xh = bald, & Y.

Perform both crosses to answer the questions on the right.

10.  XHY  x  XHXh


Answer these Questions based on both crosses to the left.


a.  What are the phenotypes of the male parents in cross #10?_______      #11? ________

b.  Which sex was more likely to become bald?  __________________________________

c.  Which parent passed the bald gene on to male offspring?  ________________________

d.  What needed to happen for a female to be bald? ________________________________
11. XhY  x  XHXh

_________________________________________________________________________

e.  Explain why it is said that baldness is inherited from your mom’s father.  Why would 


     that be the case?
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